O

Moto Guzzi
v85 TT 2019

@ s

) S|mple / Easy A coller a l'intérieur de la bulle / Paste inside the windscreen|

m 1

n

@ :15 min
U 2

N : Allen &

Repere

1 Bulle V85 TT / V85 TT Windscreen

Désignation Quantité

1

Entretoise @6 x 10 x 20 plastique / Plastic spacer @6 x 10 x 20

Silent block (caoutchouc origine) / Original silent block (Rubber)

Silent block (entretoise métallique origine) / Original silent block (Metallic
spacer)

Vis BHC M6 x 20 / M6 x 20 BHc screw

Vis BHc M6 x 30 / M6 x 30 BHc screw

Bande de mousse ep 1x 20 x 30 / Foam tape thickness 1 mm x 20 x 30




